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The sum of the coefficients of the terms
of the expansion of (1 + x — 3x2)2017
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If A(2, 1, 0), B(1, 1, 0), then the unit
vector in direction of AB is (V) e (reheY) Pols i
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Without expanding the determinant
prove that
0 [—-m [—n
m— 1 0
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Find the volume of the hyal B2 48 Al ~ shall (5 ) sie aaa
parallelepiped in which three
adjacent sides are represented by
the vectors

A=(213),B=(-132),
C=(1,1-2) (Y= o)==
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If z is a complex number, then
the sum of the roots of the
equation (z — 2)3 = 1 equals
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Use the inverse matrix (if possible)
to solve the system
x+3y+2z=0

x+z=-1
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If A is a matrix of the order 3 X 3
and |A| = 2, then |34| =
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The radius of the sphere
x2+y%+2z%2—4x+ 6y
—2z4+5=0

equals
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Find a point on the straight line
g = y—irl = ? such that its

x-coordinate equals double its
y-coordinate
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Find the image of the point (1, 2, 3)
in the plane x + 2y + 4z = 59
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In how many ways we can distribute
8 identical balls in 3 distinct boxes
so that none of the boxes is empty

CIS A gums oS ik oS
i e 3l aa \‘bﬁf\m&ﬁn

¢ ol Bodia aa gy ¥ sy




Ifl, w, w2 are the cubic roots of

+bw+cw?
one ’then the arbwrcw”
cta

a+bw+cw?.
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b+cw+aw?
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Find the equation of the plane Ol L) 5 gl Aslas 2a )

through the points (-1, 1, 1), B -
(1, -1, 1) and perpendicular to the ges (VA=) (N V= o))

plane x + 2y + 2z =5 O=C,Y+ 0N+ s o




The length of the perpendicular
segment from the point (3, 1, -1)
totheplanex +z=61s
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Consider the two planes

x+ 2y —2z =1,
2x+y—3z=5

Answer only one question from
the following two questions

1. Find the line of intersection of
the two planes

2. Find the measure of the angle
between the two plane
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If z is a complex number
Answer one of the following
questions only

1. |z| = z+ 3 — 2i, then find z
2. |z—2| =z + 3i, then find z
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If the two planes
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If the matrix 4 ghuaal) S 13 |
(1 —2 —3> Y- Y=
A=1-2 4 6
3 —6 -9 =) ol " ¢ Y-
then RK(A) =
o R — 1= Y

Sia

“““ccé,,\éﬂh. Gl ‘,\,)hi &













CUIC DI/



